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Q1 In private company, 20%M 35%F; in government departments, 15%M 15%F; unemployed, 10%M 5%F.

Female (both employed and unemployed) 

= 35 + 15 + 5 = 55%                E

Q2 Out of 55%, 35% are female workers,
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Q4 The data set is positively skewed, (the mean is on the right of the median.             D
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( between 170 and 180, 97 – 40 = 57%         C
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Q7 Range = 186.5 – 153.5 = 33, 
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Q9 Coefficient of determination 
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Q10 The trend of the data set is shown below.
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Q11 After transformation the data set is linearised and a least square regression line fits the transformed data better than before. Hence the r-value is improved.        B

Q12                D

Q13 
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Section B 

Module 1: Number patterns and applications
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Q1 Let the actual length of the object be 100 units, then the length in the photograph is 250 units (i.e. 150 units or 150% greater). The ratio is 250 : 100, simplify to 5 : 2.               C

Q2 Sum of infinite number of terms.          D

Q3 Infinite geometric series, 
[image: image15.wmf]1

2

-

=

a

, 
[image: image16.wmf]1

2

-

-

=

r

, 
[image: image17.wmf](

)

(

)

3

1

1

2

1

2

1

2

3

2

1

2

1

2

1

1

1

=

=

-

-

=

-

-

=

-

=

-

-

¥

r

a

S

        D

Q4 Arithmetic sequence, 
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Q5 Exponential, 
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Q7 Since 
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Q9 
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Module 2: Geometry and trigonometry

1
2
3
4
5
6
7
8
9

B
E
C
D
D
D
B
E
C

Q1 
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(closer to 10 than 10.5.           B
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The cosine rule: 
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The sine rule: 
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 is the included angle of side a and side b.            D
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Direction of M from N is S63.4oW.           E

Q9 
[image: image66.wmf]20

2

4

2

2

=

+

=

NM

 km. M is lower than N in altitude by 300 – 100 = 200 m.

Average slope 
[image: image67.wmf]0447

.

0

20

1000

200

-

=

-

=

        C

Module 5: Networks and decision mathematics
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Q1 A graph is complete if each vertex is connected to every other vertex.            D

Q2 Vertex 1 is connected to vertex 3 by an edge and vertex 2 is connected to vertex 3 by an edge, 
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 represents the entry in row i and column j in the matrix. All the other entries are zeros.           E

Q3 A circuit starts and finishes at the same vertex and no edge is included more than once. Starting from vertex 5, there are 3-edge circuits, 4-edge circuits, 5-edge circuits and 6-edge circuits.       C

Q4 A path that uses each edge in a graph once only is an Euler path.                B

Q5 A minimal spanning tree of a graph is a tree that includes all the vertices and the total weight (total length of the edges in this case) is the smallest.      B

Q6 Look for the critical path (the path of maximum length in time from start to finish). It determines the minimum completion time of the entire project.

2 + 15 + 7 + 8 + 5 + 3 = 40              E

Q7    2 + 20 + 13 = 35                  C

Q8 Use minimum cut to find maximum flow.

Maximum flow = 12 + 15 + 18 + 10 + 22 = 77      B

Q9    12 + 15 + 18 + Z = 75, Z = 30            B


    Please inform mathline@itute.com re conceptual,

    mathematical and/or typing errors


_1177829428.unknown

_1177833968.unknown

_1177836448.unknown

_1177836926.unknown

_1177837559.unknown

_1177838482.unknown

_1177849371.unknown

_1177849479.unknown

_1177838220.unknown

_1177837144.unknown

_1177837528.unknown

_1177837102.unknown

_1177836740.unknown

_1177836891.unknown

_1177836547.unknown

_1177835927.unknown

_1177836087.unknown

_1177836142.unknown

_1177836017.unknown

_1177834411.unknown

_1177834536.unknown

_1177834337.unknown

_1177832460.unknown

_1177833059.unknown

_1177833452.unknown

_1177833893.unknown

_1177833412.unknown

_1177832616.unknown

_1177833001.unknown

_1177832540.unknown

_1177830347.unknown

_1177832158.unknown

_1177832403.unknown

_1177830348.unknown

_1177829896.unknown

_1177829998.unknown

_1177830346.unknown

_1177829810.unknown

_1177827238.unknown

_1177828479.unknown

_1177828690.unknown

_1177829119.unknown

_1177829395.unknown

_1177828720.unknown

_1177828580.unknown

_1177828649.unknown

_1177828533.unknown

_1177827978.unknown

_1177828073.unknown

_1177828386.unknown

_1177828047.unknown

_1177827855.unknown

_1177827902.unknown

_1177827288.unknown

_1177783931.unknown

_1177787454.unknown

_1177787622.unknown

_1177827191.unknown

_1177787550.unknown

_1177784102.unknown

_1177785367.unknown

_1177784082.unknown

_1177778961.unknown

_1177783912.unknown

_1177783921.unknown

_1177779020.unknown

_1177778058.unknown

_1177778235.unknown

_1168406372.bin

